SLUM REHABILITATION AUTHORITY.

Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051.

QUOTATION NOTICE

- Quotations in sealed covers are invited from the Contractors so as to reach the office of the undersigned at Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051. on or before 03/01/2023 upt 3.00 p.m. for the work of Repair and renovation of cabins provided, Providing Chairs Officers at Slum Rehabilitation Authority, Admin Bldg., Bandra (E.), Mumbai 400051.
- 2. The estimated cost of the work is Rs. 6,94,585.00/- (Rupees Six Lakhs Ninety-Four Thousand Four Hundred Eighty Five Only).
- 3. The quotations in sealed cover shall be addressed to the Executive Engineer Maint/SRA, Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051. The blank quotations can be downloaded from the tender section of SRA website www.sra.gov.in from 26/12/2022 to 03/01/2023 upto 3.00 p.m.
- 4. The quotationer shall quote in ink his percentage offer above/below or at par the estimated cost both in figures and words. The quotation should be submitted in a single sealed Envelope containing forwarding letter, quotation notice and duly filled Schedule-B and signed on each page.
- 5. The name of work for which quotations have been given should be stated clearly on the envelope containing the quotation and name of Contractor should be written on lower left of envelope.
- 6. The sealed quotation will be received by the office of Executive Engineer Maint./SRA, Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051. upto 3.00 p.m. by 03/01/2023 and will be opened at 3.30 p.m. on the same day as far as possible in the presence of the contractors/their representatives whosoever remain present at that time.
- 7. The quantities as shown in Schedule 'B' are approximate. The payment will be made as per actual quantity of work done.
- 8. The acceptance of quotation shall rest with the competent authority who reserves the right to reject any or all the quotations without assigning any reason for doing
- 9. The quotation submitted by the quotationer shall be binding on him for a period of 60 days from the last date of receipt of quotation.
- 10. No alternation in the form of quotation or schedule of quantities, specifications shall be entertained.
- 11. The entire work is to be completed within 30 days.
- 12. The work shall be carried out in accordance with I.S. specifications for the particular items and as per the detailed specifications mentioned in Schedule-B.

- 13. The rates quoted shall be inclusive of all taxes, Octroi Duty and free delivery at site of work and nothing extra shall be paid on any account.
- 14. The quotationer is advised to visit and examine the site of work and its surroundings before quoting the rate and acquaint themselves with the site conditions.
- 15. The contractor will have to make his/ their own arrangement at his/their cost for office and stores and safeguard the materials brought on the work and the materials issued by the department if any.
- 16. The contractor shall provide all labours, tools, pegs, watering and all other materials as required for line out and setting out the layout etc. for the work without claiming any payment.
- 17. After the completion of the work, the contractor shall remove forthwith all his/ their serviceable and un-serviceable materials from site of work and other debris shall be dumped and leveled as ordered within the scope of work if so ordered without any extra cost.
- 18. No escalation shall be paid to the contractor.

-Sd/Executive Engineer Maint./SRA,
Slum Rehabilitation Authority.
Mumbai- 400 051.

Issued to:	
M/s	
Copy submitted to Dy.CE/SRA for information.	

Copy to A.E./SRA, for information & necessary action

Copy f.w.c's to F.C/SRA for information.

Copy to Notice Board/SRA.

Copy to Information Technical Department/SRA. for publishing E-quotation notice along with Schedule-B on SRA website.

/2022



SLUM REHABILITATION AUTHORITY

No: SRA/MAINT.SEC./DESK-1/

Date:

QUOTATION NOTICE

Subject:

Repairs and renovation of cabins provided, Providing chairs to officers at Slum Rehabilitation Authority, Admin bldg. Bandra (E), Mumbai-

400051.

Sr.	Description	Unit	Quantity	Rates (rs)	Amount (rs)	
No.	Removing the existing cement plaster of any thickness without causing dust nuisance and stacking the debris upto a distance of 50 metres are spreading in the compound and cleaning the	sq.mt	196	51.45	10084.20	
2	Providing internal cement plaster 20mm thick in a single coat using Ready to use wall plaster to concrete, brick surfaces in all positions including scaffolding and curing. Providing	sq.mt	196	467.25	91581.00	
3	Providing and applying Royale Luxury Emulsion of approved make on internal wall surface as detailed below Scrapping for surface with emery paper and wipe clean for area. wall primer with brush by adding mineral turpentine oil by 8 to 10 % or water by 15 to 20% allowing to dry for 6 to 8 hoursAfter applying acrylic wall putty with appropriate proportion of water of allow to dry for period of 4 to 6 hours of activity. Scrapping with emery paper and wipe clean Applying paints Royale Luxury emulsion 1st coat with brush water content water 40 to 45% or 65 to 70% by role Applying paints Royale.	sq.mt	327	262.5	85837.50	
4	Providing and applying plaster with plaster of paris in 6mm thickness to previously plaster paris in 6mm thickness to previously plaster	sq.m	327	142.8	46695.60	
	surface scandiding etc.	sq.m	ıt 3	1663	4989.00	
5	Providing and Fixing Rollar Blinds AMI Make of approved make & shade of 38mm round Aluminium channel with Blackout fabric & shade of the shade of th	sq.n	nt 13	2259.	6 29374.80	

7	Removing Existing Mangalore tiles / AC / GI / Galvalume Sheets / polycarbonate plain and corrugated sheets from roof / cladding / partitions etc., excluding supporting structure but including scaffolding, handling, transporting, sorting and stacking at site lead up to 150m and or disposing etc complete as	sq.mt	22	98.00	2156 00
8	Providing & Arrangemnt of High Back, Synchronized Mechanism with Multiple Locking, Adjustable Armrest, Gaslift for Seat	Nos	15	18239.6	273593.25
9	providing & Arrangemnt of MId Back, Normal Syncro Mechanism, Fixed Armrest, Gaslift for Syncro Mechanism, Standard 5-	Nos	3	10041.2	30123.45
10	Public Seating Chair - 3 Seater Providing and Fixing 3 seater Public seating chair made of complete metal with Legs in Crome finish and seates in silver powder coating finish.	Nos	3	18958.8	56876.40
11	Providing and fixing False ceiling of 12mm thick as per drawings including powder coated G.I. wall angle of 20mm x 20mm size, G.I. grid runners of size 20mm x 38mm at 600mm center to center both ways and suspended using G.I. 3mm wire including fixing using butterfly clips and fasteners including	sq.mt	20	1509.9	30198.00
	and machinery, finishing etc. complete.		1	Total	661509.20
			Add 5%	Contingencies	694584.66
				CGST 9%	62512.62
				SGST 9%	62512.62 819609.9
				Total Amount	819009.90

I/We herby agree to quote% Above/Below or At par with the estimated cost put to the Tender. Therefore, the amount (in figure) (in words)
The interested agency /contractor shall submit the sealed quotation Containing GST Registration, etc. upto by 5:00 p.m. Addressed to 5th Floor, Maintenance Section / Dept., SRA, Administration Bldg., Anant Kanekar Marg, Bandra (E), Mumbai - 51.

Sd/-

Executive Engineer
Slum Rehabilitation Authority